Noise/Baseline studies from warm
wires In (open) cryostat

Looked at data from 100 events taken from both
iInduction and collectionplane.

Data taken from feed-through 9
Waveforms are 99 samples long (@ 2MHz)

No pulse was induced on the wire — this Is only
noise



Example waveform
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Baseline...how do | find 1t?

ADC values
L ADCs
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Baseline Study — collection plane

Baseline Histo

L BaseHisto
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Baseline Study — induction plane

Baseline Histo
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Baseline for one Channel — across events

BaselineChan_ 2035
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Baseline channel-by-channel

RMS of Baseline values by Channel

BaselineRMS
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Baseline Trend: [(N+)-(N-)]/N_tot
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Baseline Trend

BaseTrend
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Noise: RMS
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RMS values

Noise: channel by channel

Channel RMS
Entries
ea 1.13e+04
RMS 347.6




Noise: freq spectrum

Noise Freq. Spectrum
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Backup

sine example

sine
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Sine Example
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